Warm Up – Restrictions on the Domain

For each of the following graphs, darken the graph to show the parts that would be kept after the domain restriction. Make sure I can see the difference between open and closed circles!
1) x > 3
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1.) x > -1
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2.) 3 < x < 10
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3.) -2 < x < 0
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4.) x < 8
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5.) Come up with the equations for these. (Hint: USE THE GRAPH!) 
Your answers should be fast and perfect.
Exit Quiz – Graphing a Piece of a Function


Name _________________








Date __________________
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1) In the graph above, graph the line f(x) =  x – 2 using a dashed line ( like --------- ). (2 points)



      3

2) What are the slope and the y-intercept of your function? (2 points)
3) Now using a solid line, darken the parts of your graph that fall into the domain restriction x < 6. (2 points)
4) Evaluate each of the following, or tell me why it is not possible. Take the domain restriction into account. (1 point each)
a. f(-3)

b. f(0)

c. f(6)

d. f(8)

